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QUESTION 1

The Orders.fmb module contains two content canvases, both associated with the default window. Items from the DEPT
data block are associated with the DEPTCAN canvas. Items from the EMP data block are associated with the EMPCAN
canvas. The user wants to view DEPT and EMP data at the same time. 

What changes would you make to the Orders form? 

A. Redefine the EMPCAN canvas as a tab canvas because it is not possible to display multiple content canvases in a
single Forms module. 

B. Create a new WINDOW object called DEPTWIN. To associate the DEPTCAN canvas with the DEPTWIN window, set
the DEPTCAN Window property to DEPTWIN. 

C. Redefine the EMPCAN canvas as a stacked canvas because it is not possible to display multiple content canvases in
a single Forms module. 

D. Create a new WINDOW object called DEPTWIN. To associate the DEPTWIN window with the DEPTCAN canvas, set
the DEPTWIN Primary Canvas property to DEPTCAN. 

E. Create a separate Forms module for the EMPCAN canvas and EMP data block, because it is not possible to display
multiple content canvases in a single Forms module. 

Correct Answer: B 

 

 

QUESTION 2

Which three statements best describe a Table of Records in Forms Builder? (Choose three.) 

A. A Table of Records enables you to query and update multiple tables, and perform validation, on the server side. 

B. A Table of Records is not efficient in terms of network traffic, because multiple round trips are required for all the
records to be returned. 

C. Array processing cannot be used when a data block is based on a stored procedure that returns a Table of Records. 

D. A stored procedure that uses a Table of Records can be used only as a DML block datasource. 

E. A stored procedure that uses a Table of Records can be used as both a query and DML block datasource. 

F. A stored procedure that uses a Table of Records can be used only as a query block datasource. 

Correct Answer: ACE 

 

 

QUESTION 3

The following On-Error trigger was written to give users a more meaningful message when they press the Up key when
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the cursor is in the first record (the FRM-40100 error) and to display default messages for all other errors: 

IF message_code = 40100 THEN 

MESSAGE(\\'You are already at the first record\\'); 

ELSE 

MESSAGE(message_type || \\'-\\' || 

to_char(message_code) || \\': \\' || message_text); 

END IF; 

When you test the form, you still get the FRM-40100 message when you press the Up key while the cursor is in the first
record. Your custom message does not appear. 

What corrections can you make so that the code functions properly? 

A. Change all occurrences of message_code, message_type, and message_text to error_code, error_type, and
error_text. 

B. Eliminate the to_char function because message_code is a varchar2 value. 

C. To keep the remaining code from executing, add after the second line: RAISE FORM_TRIGGER_FAILURE; 

D. Change all occurrences of message_code, message_type, and message_text to DBMS_error_code,
DBMS_error_type, and DBMS_error_text. 

Correct Answer: A 

 

 

QUESTION 4

View the Exhibit. 

The EMPLOYEES table contains 100 records. You are developing a Human Resources form that has an Employees
block with properties as shown in the exhibit. When you run the form and execute a query in the Employees block,
approximately how many network round trips will be made to the server before records are displayed in the block? 
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A. 1 

B. 2 

C. 10 

D. 50 

E. 100 

Correct Answer: C 

 

 

QUESTION 5

View the Exhibit. 
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You are developing and testing a Forms application on a machine that has plenty of memory. The Customers block,
whose Property Palette is shown in the exhibit, is based on a table that contains a large number of records. 

The initial query on the block appears quickly. However, after scrolling through hundreds of records in the block, you
notice that it is taking longer and longer to retrieve the next set of records. 

What can you do to improve performance without losing the fast initial response? 

A. Set Single Record to Yes. 

B. Set Query All Records to Yes. 

C. Set Query Array Size to a larger number. 

D. Set Number of Records Buffered to a larger number. 

E. Set Number of Records Buffered to a smaller number. 

F. Set Number of Records Displayed to a smaller number. 

Correct Answer: D 
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